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SN BIDH0IRIDt
A ARG )| E2 FAHEZ ZLE(ARISX/FE)
el FHEE e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OANE s S XAOHLHE 24T AL
30,000,000& »14] 30,000
OAE S SHXIASXIOHIE F2FHAIL
24 o DA 7,000,00024%14! 7,000
OIS HQOIIE 220 WH ZA
70,000,000& *14] 70,000
ONds Lt W - 2/ “HSA
14,500,000 * 14 14,500
ONd s SUFZ2XI0HIIE SAFEE X!
Il WH SA 50,000,000& »14! 50,000
O0Es HASSOHIE &2 WM SAt
47,000,000& *14] 47,000
ONE S HIAUFOHHE S+=HA & 3
A BT DA ZA
30,000,000& »14] 30,000
OWAES L0I0[=ALOHHE HH+=EZ Wi
A 8,500,000 *14} 8,500
OFUE HZRSLOHIE ST+l U
ANseds X SAt 12,000,000 *14{ 12,000
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OM=s Alsotmelol SAF2Xel0|0|
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100,000, 000& * 14! 100,000
NAS ZOHl F=EONEALSE 30,400 19,000 11,400
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O zF N2t 8RS0 St
1,281,524,000& *14] 1,281,524
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= 89,707
Al 38,446
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= 69,814
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OAJBIIHAMLLSO!) B 25U 28
85,0002 x2H +83] 1,360
OAZHE AME FY
20,0002 x5 *32 +23] 600
301 EtE N = 120,000 120,000
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